
6/18 STERNBERG LIGHTING. ALL RIGHTS RESERVED. PRINTED IN THE USA.

800-621-3376
555 Lawrence Ave., Roselle, IL 60172

info@sternberglighting.com
www.sternberglighting.com

RW300 STEM MOUNT INSTALLATION INSTRUCTIONS

1. �Pull supply wires through the center opening of the mounting plate.

2. �Secure mounting plate to the ceiling over the ceiling supply wire 
box (supplied by others) with four 1/4” bolts (supplied by others).

3. �Slide the canopy cover over the fixture stem. Let the canopy cover 
rest on top of the fixture until the fixture is completely installed.

4. �Pull the fixture wires through the wire way hole located in the  
support bracket.

5. �Place the EZ hang ball into the EZ Hang cup. Align the key slot in 
the ball with the tab in the cup.

6. �Attach the EZ Hang cover to the EZ Hang cup with the two screws 
provided.

7. �Tighten the set screw located in the EZ Hang cup to secure the 
fixture/stem assembly in place.

8. �Make the connections between the supply wires and fixture wires.

9. �Slide the canopy cover over the EZ Hang cup and into the mounting 
plate. Secure the cover to the mounting plate with the two screws 
provided.

WARNING:	 TO AVOID FIRE, SHOCK OR DEATH, TURN OFF AND LOCKOUT POWER BEFORE PERFORMING ANY MAINTENANCE.

CAUTION:	� THIS FIXTURE MUST BE WIRED IN ACCORDANCE WITH THE NATIONAL ELECTRIC CODE AND ALL APPLICABLE LOCAL 
CODES. PROPER GROUNDING IS REQUIRED. ALL WORK SHOULD BE DONE BY A QUALIFIED ELECTRICIAN.

1

1

2

2

3

3

4

4

A A

B B

SHEET 1  OF 1 

DRAWN

CHECKED

QA

MFG

APPROVED

jwandrey 8/13/2014

DWG NO

SL610

SL610 SOLANA MEDIUM STEM MOUNTED

SIZE

B
SCALE

REV

-

TOLERANCES
DECIMAL DIMENSION TOLERANCE (IN.)

0.X

0.XX

0.XXX

0.XXXX

± 0.04

± 0.02

± 0.010

± 0.0050

FRACTIONAL DIMENSION

± 1/64

ANGULAR DIMENSION

± 1/2°

MATERIAL MASS
MAT'L. REQ'D: APPROX. WEIGHT:

TITLE
N/A

THIRD ANGLE
PROJECTION

LIGHTING

-    8/13/2014  

REVISION HISTORY

REV DESCRIPTION ENGINEER CHECKED BY DATE ECN #

5"

1-1/2"

MOUNTING HOLE PATTERN

 CEILING BOX 
ACCESS HOLE

CEILING BOX
BY OTHERS

EX HANP CUP

SET SCREW

EZ HANG COVER

CANOPY COVER

MOUNTING PLATE

EZ HANG BALL FIXTURE WIRES

 
5/16"
HOLE

1/4" BOLTS

MOUNTING PLATE

KEY SLOT

WIREWAY HOLE

SUPPORT BRACKET

INSTALLATION INSTRUCTIONS:
 
1) PULL SUPPLY WIRES THROUGH THE CENTER OPENING
    OF THE MOUNTING PLATE.
2) SECURE MOUNTING PLATE TO THE CEILING OVER 
    THE CEILING SUPPLY WIRE BOX (SUPPLIED BY OTHERS)
    WITH FOUR 1/4" BOLTS (SUPPLIED BY OTHERS).
3) SLIDE THE CANOPY COVER OVER THE FIXTURE STEM.
    LET THE CANOPY COVER REST ON TOP OF THE FIXTURE
    UNTIL THE FIXTURE IS COMPLETELY INSTALLED.
4) PULL THE FIXTURE WIRES THROUGH THE WIRE WAY
    HOLE LOCATED IN THE SUPPORT BRACKET.
5) PLACE THE EZ HANG BALL INTO THE EZ HANG CUP.
    ALIGN THE KEY SLOT IN THE BALL WITH THE TAB
    IN THE CUP.
6) ATTACH THE EZ HANG COVER TO THE EZ HANG CUP
    WITH THE TWO SCREWS PROVIDED.
7) TIGHTEN THE SET SCREW LOCATED IN THE 
    EZ HANG CUP TO SECURE THE FIXTURE/STEM 
    ASSEMBLY IN PLACE.
8) MAKE THE CONNECTIONS BETWEEN THE SUPPLY
    WIRES AND FIXTURE WIRES.
9) SLIDE THE CANOPY COVER OVER THE EZ HANG
    CUP AND INTO THE MOUNTING PLATE. SECURE 
    THE COVER TO THE MOUNTING PLATE WITH 
    THE TWO SCREWS PROVIDED.

STEM

MOUNTING PLATEMOUNTING PLATE

MOUNTING HOLE PATTERN

CEILING BOX 
ACCESS HOLECEILING BOX 

BY OTHERS

5”

1-1/2”

5/16”
HOLE

EZ HANG 
COVER

SUPPORT BRACKET
WIREWAY HOLE

SET SCREW

CANOPY COVER

EZ HANG BALL

FIXTURE WIRES

KEY SLOT

CANOPY COVER 
SCREWS

MOUNTING PLATE
1/4” BOLTS

LEVER 
NUTS

BLACK 
WIRE

RED 
WIRE

RED 
WIRE

BLUE 
WIRE

DRIVER

FIXTURE


